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This question paper has two Parts. Part A is compulsory
for all the students. Part B is meant only for those
students who have not offered computerized
accounts. Show all workings clearly as
part of the answer. Use of simple

calculator is allowed.

v 9T & @ 91 &1 w7 3 gt faenfdar & faw
Ffard, 9T & a7 37 fFEnaar % G2 8

fi1? Frgdisa @ 78 faw &1

o G



1231

2

| T HTERYT G790 &1 T4 (37 S G & | I
% e S T T s A

PART A (T 37)

1.
lWhat do you mean by Accounting Standards? What is
egal status of accounting standards in India?

& HIA g g 2

3

2 Fron.1 the following Trial Balance of Ashwani you are
;e((]lmred to prepare the Trading Account and Proﬁt
28 Loss Account for the year ending 31st March

17 and the Balance sheet as on that date: ]

Debit Credit
Amount | Amount !
Stock (R:O,)OOO =4 -
Capital
Drawings 10,00_0 2’00,00—0
Plant and Machinery 1,20,000 —
Property 75,000 -
Purchase and Sales 2,25,000| 5,00,000
Salaries 35,000 ’ ~
- |Office Expenses 5,000 -
Furniture 25,000 -~
Discount 5,000 -

3 1231
Loan to Manoj @ 10% p.a. on 30,000 -
1-4-2015
| Wages 8,000 —
Postage 2,000 -
Insurance 5,000 -
Gas and Fuel 50,000 -
Bad Debts 15,000 -
Rent 10,000 —
Loose Tools 15,000 -
Provision for Doubtful Debts — 20,000
Interest on Manoj Loan - 1,000
Debtors and Creditors 45,000 34,000
Cash in hand 2,000 -
Cash at bank 3,000 -
Bills Receivable and Bills Payable 50,000 10,000
Total | 7,65,000| 7,65,000

Adjustments:

(a) Stock on 31st March, 2017 was valued at Rs.

55,000.

(b) A new machine was installed on 1-4-2016 costing
Rs. 22,000. It was not recorded in the books as no
payment was made for it. Wages Rs. 1,500 paid for
its installation have been debited to wages

account.

(c) Depreciate Plant and Machinery by 20% and

Property by 10% p-a.

P T.48
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(e) Wr.ite .off Rf‘ 500 as further bad debts and
maintain provision of 10% for doubtful debts.

Wﬁé:ﬁwmaam‘efmﬁgﬁmsl A,

2017a%maﬁa;mw@mammmm
W T 34t fafy 1 germ-uy a8

— A afer [ s e
g 30,000
oh |
2,00,000
TR ,
4 10,000
9= g gyiag
. 1:20,000
ml ": - 75,000
'a?FT ; z'zs'm 5!001000
ks 35,000 ;
ed 5,000
) 25,000
5,000
10% == T 1-4-2015 5
FHIS o 30,000 N
mﬁ 8,000 i
o ':"",‘" 2,000 e
5,000 .
T 7 dug e
W 3€UT y —
h 15,000 2
B 10,000 9]
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AT ITFT 15,000 -
Hfgre st & faw sraaE —| 20,000
AN % WO W A i 1,000
AR F 3R 45,000] 34,000
T Y% 2,000 5
=% ¥ A=z 3,000 i
T foe d 37 faw 50,000 10,000

F 7,65,000| 7,65,000

FHESH:

(a) 31 W€, 2017 H €& & FHd 55,000 Fo T
el : .

(b) 22,000 Fo GNTA & TH A3 WA 1.4.2016 H
amé w1 uw Fearl A T word wE wiifs B
TraH T8 fwar e ur ) 3uF sfasm F fag
@ T A9ed ¥ 1,500 To WG W ¥ AW W
feg g |
(c) ®aF qar W W 20% R T W 10%
Tifife Yeagr @Ry | :
(d) 31 W, 2017 = G IR H qeT 12,000 Fo
s T _
(¢) 3T gad@ ®HUT A 500 To IufafEd AT qr
ey w0 % AT 10% 1 TEuw #}FQ 13

Or(3tean)

From the following trial balance and necessary
information given below for a public school, prepare

P. 10,
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Income and Expenditure Account for the year ending () Assume further that donation for library books is

31st December, 2017 and a Balance Sheet as on that : fully utilized during the year.

date: | meaﬁqﬁ@amﬁﬁ%am

Debit Balance Rs. Credit Balance Rs. YA Gl q 31 fegmsy, 2017 N g a4 & faq
|Building 2,50,000 | Admission fees 5,000 S-S Gl far Sifse qur 34t e H AT
Furniture & Fitting | 40,000 |Tuition fees collected |2,00,000 i
Library books ] 60,000|Creditors for supplies 6,000 ol 1
Investment @ 9%/ 2,00,000 |Rent for the Hall 4,000 3z 9w 0 fez 9 s
(1-1-2017) | Fh 2,50,000 | ¥ 5,000
Salaries 2,00,000 |Miscellaneous receipts| 12,000 e & fefen 40,000 | ZHYH AR "afed | 2,00,000
Stationery 15,000|Govt. Grants 14,000 e T 60,000| 3 3 fg WA | 6,000
General exp. 8,000|General fund 4,00,000 Y @ 9% (1.1.2017)|2,00,000 €T % fog feuan 4,000
Annual sports exp. 6,000 |Donation for books 25,000 AaA 2,00,000 |fafa" wiftaat 12,000
Cash at bank 20,000|Sale of old furniture 8,000 @ gt 15,000 TR AT 14,000
Cash in hand 1,000 W Y 8,000 | EHI W 4,00,000

8,00,000 18,00,000 afts & = 6,000 7 & fag ™ ) 25,000
Additional information: & 7 A3 20,000/ TR R by
e AFE 1 1,000
(a) Fee yet to be received for the year is Rs. 11,000. . 8,00,000 8,00,000
(b) Salaries yet to be paid amount to Rs. 12,000.
arfaftes gam

(c) Furniture costing Rs. 15,000 was purchased on '
Bt areht w4 11,000 ¥o
1-7-2017. The book value of the furniture sold on (a) ad & fag s b
1stJ qu, 2017 was Rs. 20,000 0on 1-1-2017.

(b) 3F AT 12,000 To
(d) Depreciation is to be charged @ 10% per annum (c) 1.7.2017 ' 15,000 To W = EATET @ler T |
on furniture and fittings; 15% p.a on library books

i FH A MW A OGS
and 5% p.a. on buildings. 1 ;an' 2017
. : 1.1.2017 = 20,000 Fo T |

P, A0
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(d)m'fma'ﬁsﬁmmm%,m%ﬂ'aﬁwaﬁm'

15% 3R a7 W 5% =ifis Teagm e 2

(e) F® WA fo& @mgadt = fopaal ¥ fod o af &
X W WH A 15

3. Akshita limited started its business on 1st January

2015. It purchased and used raw material during the
month of January in 2015 as follows:

1January: Opening stock 500 kgs @ Rs. 60 per kg
5January: Purchas=d 800 kgs @ Rs. 62 per kg

10 January : Issued 600 kgs

12 January : Purchased 1,200 kgs @ Rs. 57 per kg
18 January : Issued 1000 kgs

21 January : Issued 500 kgs

25 January : Purchased 900 kgs @ Rs. 65 pc:r kg
28 January : Issued 800 kgs

Calculate the value of closing stock according to

LIFO, FIFO and Weighted Average basis, using

perpetual inventory system.

awraarf%—roﬁlmaﬁ,zmsairmwm
ferar1 2015 & SFad wR ¥ WY = aEHt @ A
F9 3y e |

1 maﬂmﬁﬂﬁtaﬁimsooﬁﬁmo@eosonﬁrmo
5 SFEd %7 800 fFTe @ %o 62 W Do
10 SEE0 91 600 T

12. S8 %37 1,200 fFTe @ 57 %o Sfa o

9 1231

18 ﬂﬁﬂﬁﬁfﬁlﬂmﬁo

21 Al S 500 FRe

25 SEEt %4 900 fFTle @ 65 o fiFTTTo

28 SHad Wl 800 fTio
T aw 1 Y LRI a-.'{%@, LIFO,
FIFO @ Wit itea suR W 3fad Efaar & 1o
— 13

Or (31gan)

Machine account of Anvi limited showed a debit

balance of Rs. 32,400 on 1st January, 2015, deprecia-
tion being provided at 10% p.a. On 1st July, 2015, a
part of the machine purchased for Rs. 10,000 on 1st
January, 2013 was sold for Rs. 7000 and on the same
date new machine was purchased for Rs. 20,000. On 31

‘December, 2015, the company decided to change the

method of depreciation from w.d.v. method tc straight
line method with retrospective effect; depreciation
rate remaining same at 10% p.a. Prepare machine
account for the year 2013.

1 SHaEd, 2015 @ et fdo ¥ WA @A H 32,400
Fo AW VY AT | YIS 10% Wiaad safafed fea
T 1 S, 2015 @ AW, St 1 SEEd 2013 @
10,moaoﬁaﬂaﬁu1,asr@m7,oooaoﬁ
Jan g, s 3E faF 20,000 To F wH A WA T
&t it 31 fewmar 2015 @ w3 fofa faar
TR wdy. fafu & wE W @ Y e "

TR
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. S st ax s qderd wwe ¥ qemwE @
T8 10% W | = 2015%mmﬁqmmu

: 13
4. A, B and C jointly undertake to construct a building
for a company at a contract price of Rs. 15,00,000 to
be paid as Rs. 12,00,000 in cash and Rs. 3,00,000 in
fully paid shares of the company. They agreed to share
profit or loss equally. They open a joint bank account
and contribute : A Rs. 1,80,000; B Rs. 2,00,000 and C
Rs. 1,30,000. A get the plan prepared and pays Rs.
20,000 for it. B brings into the joint venture machinery
of Rs. 60,000 and C brings into the venture a truck of
the value of Rs. 50,000. They also purchased materials
‘worth Rs. 7,50,000 and wages paid were Rs. 4,95,000.
On completion of the venture, A takes over unused
materials of the value of Rs. 35,000; B takes back
machinery at Rs. 70,000 and C agrees to take back the
truck at a valuation of Rs. 20,000. A also agreed to

take over shares of the company at a valuation of Rs.
2,60,000.

Show the necessary ledger accounts assuming that a
‘separate set of account books is maintained.

A, B 3R C & Fwft % fau fieew ©s waq fmi

I AT & ¢ | ST T 15,00,000 Fo H A

12,00,000 ¥o T qUT 3,00,000 o FA & qui waw
Al A HEW 41| F AT F FE-ATET a2y W
WEHd & MU IR TF W% a% @ @ren ek
HweH Q4 : A 1,80.000 %o, B 2,00,000 %o 3R C

1
1 123

1,50,000 To | A X A dAR FTE 3T 20,000 Fo H
Tmmﬁrmlsﬁwwﬁso,ooosoaﬁmﬁw
arr @ 3 C 50,000 Fo F TH IH AN Q| ITA
7,50,000 %o F Wl WA T 4,95,000 Fo LECel
m@mmam%@iﬁ%%AﬁW
TR 35,000 To ¥ @ B A WEA 70,000 Fo ¥, 3K
ci;aaﬁzo,omsoaﬂaﬁnaﬂarﬁaﬁmm
ﬁmﬂ%:%uﬂaﬁz,&o,oooaoaaqammé
feam

AETaE AR @Rt fGEEy 4§ A g e wd
g@ﬁ;t@"lﬁﬁﬂ%l 1
Or (31gan) '

(a) 100 toys, costing Rs. 150 each, were ?onsigncd to
the agent at Mumbai. Expenses incurred on
sending them were Rs. 1,000. On the way 5 toys
were damaged due to bad handling anc! insurance
claim of Rs. 700 was accepted. Consignee took
delivery of the rest and incurred direct expenses
of Rs. 285 and indirect expenses of Rs. 150. He
sold 80 toys at Rs. 200 per toy. Prepare
consignment account when consignee gets 5%
commission on gross sales. Also show how
abnormal loss and stock at the end is to be
calculated. Prepare Abnormal Loss Account.

15030nﬁr%;famaﬁ1oofaa’}%rgxa§a:q—s@
Fr Y fopw 7w Awor =T 1,000 %o gqum%ﬁ‘_
P.T.O.



1231

(b)

12

mw-m%mswmaw

aﬂtmaoma‘rmmtaﬁqmgamfrﬁ?ﬁ%r
Wm#g@ﬁ%%ﬁlwﬁammmms
¥o qUT AN AT 150 Fo FY | IFY 200 Fo Nfy
%ﬁmﬁso@sﬂﬁhﬁqn&wmm
mﬁﬁa‘?aﬁﬁﬁaﬂms%mﬁmal

wﬁm%mmmammwﬁm
® A fEE YER A I 71T @ran
TR | 8

Explain the types of commission which are given
to consignee.

ﬁﬁ?ﬁﬁh&qaﬁmémmé:ﬁﬁ:wu’faﬁ
YUEET | 5

- Magnum Ltd. has a branch in Agra. Goods are sent to

branch at 25% profit on cost. Following information is

available by Head Office in Delhi in connection with
this branch:

Opening Balances Rs.
Stock (Invoice Value) 20,000
Branch Debtors 10,000
Furniture 10,000
Petty Cash 500 A

Transactions during the year :

13

Goods sent to branch at invoice price
Goods in transit

Goods returned by branch

Goods returned by branch customer
Cash sale

Credit sales

Bad Debts

Discount allowed

Collection from debtors

Petty expenses

Cash sent by Head office for
Rent 2,000
Salary 2,500
Petty cash 1,000

Closing balances:

Stock (Invoice value)

1231
1,20,000

10,000
10,000
5,000
65,000
60,000
500
500
44,000
1,100

5,500

25,000

Depreciation charged on furniture 10% p.a. Calculate

profit or loss at Agra branch.

frm o @t AR ¥ TF W@ P | @ B A W
25% @M ¥ e Mwa fE S ) W ww@r @
wrafug e ga feeeht § qea Frafea § Sueey €

g e |
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Mg i &
T (& ) 20,000
e 3R 10,000

I 10,000 -
I Vhg i
T % 2k g
. I e W wmEn F) A S 800

& AT 10,000
IET W A1 a9t 10’000
W&l 3N 3RT A Aot %600
%3 faerg _ i
wfez fawyg ; gk
g q %

500

€ W 500
TR /A wreyy o
o, 1,100
9 HAifed q Az o=

feraan 2,000

EEE 2,500

AW =T 1,000 E

S ,500

Fz"l’a;(ﬂ—uﬁ;rg-:q) & o

FAR W qeamE 10% W a¥ @ @

G AT
a;mwawwaﬁaﬁ?m#ﬁml vmla;
Or (319gan)

14

(a) What is the difference between accounting

concepts and accounting standards?

15 ' 1231

'mmw&ammmﬁﬁw

22 5
(b) What is the difference between cash discount apd
trade discount? '
THS GZ TU AWMNE g2 A FM AW L? 3
(c) What are the objectives of charging depreciation?
IR AN & T I ¢ 2 il i
ParT B (M1 ®)

6. (a) What do you mean by dissolution of firm and what

are the reasons for dissolution of firm?

o ¥ faged ¥ M 1 WEES ¢ 9° w4 &
faue & a1 SR B 22 '

(b) A, B and C sharing profits in the ratioof 3: 1: 1

decided to dissolve their firm. On 31st March,
2017, their position was as follows:

Liabilities | Rs. Assets Rs.
Creditors 6,000|Cash at Bank . 3,500
Loan 1,500 |Debtors 24,200

(-) Reserve for
Capital: Doubtful Debts 1,200 | 23,000
A 27,500 Stoék 8,300
B 11,000 Furniture 1,200
C 10,000 | 48,500 |Sundry Assets 20,000
56,000 56,000
A b
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It is agreed that:

(1) A is to take over all the furniture at Rs.
1,000 and Debtors amounting to Rs. 20,200
at Rs. 18,000. A also agrees to pay the
creditors. ;

(ii) B is to take over all the stock at book value
and some of the Sundry Assets at Rs. 7,200
(being book value less 10%).

(iii) C is to take over the remaining Sundry
Assets at 90% of the book value and assume
responsibility for the discharge of the loan.

(iv) The remaining debtors were taken over by a
debt collecting agency at 80% of book value.

(V) The expenses of dissolution amounted to Rs.
200. '

Prepare Realisation account, Bank account and
Capital accounts of the partners.

ABINCW3:1:1% 3 uad o
&,mﬁw%ﬁmaﬁrﬁmm%lmw
2017 =+t 3T feufyy forey oft:

Tfaa %o wfwat %o
AR 6,000(9% ¥ A=z 3,500
£ 1,500 [27= 24,200 '
v () dfergt o &

IR fau gy 1,200 | 23,000

A 27,500 wi* 7 8,300

17 1231

B 11,000 LTiiiy - 1,200
C 10,000 | 48,500 |fafae weafaan 20,000
56,000 56,000

Jg 99 i T fE .

() A ®R A= | 1,000 To ¥ am 3R
20,200 ¥o & IAGRI F 18,000 To H &M |
A Tt AR H PAE FA A it AW
4|

(i) B &% Yed W §W WiE AWM ad o
fafan wwfadl &t 7,200 %o # @m (TS
e ¥ 10% &)

@) ¢ ==t gt fafaw wwfedt o0 TS
T WA q9T O H AW F IR
ot @&t 2

(iv) ¥ T W IWRA N F& [@F 4 &
80% T TH HU WUE Tt A o foran

(v) fawea =g 200 Fo & @ |
e wr, &% @, AW Wl & G
@|rd a91ET | 15

Or (319an) :

Aditya, Sooraj and Prakash were partners in a firm
sharing profit and loss equally. Following is the
balance sheet of the firm as on 31st March, 2017:

P. T. Ok
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from his private assets. You are required to close the
books of this firm by applying Garner vs. Murray rule.

aﬁamaw@‘ﬁﬁwa‘mm
31 T, 2017 A FH & gEA-IF O @

18
Liabilities Rs. Assets Rs.

Creditors 15,000 (Stock 20,000

Bills payable 10,000 |Debtors 20,000

Mortgage Loan on Prov. for doubtful
|Land & Building 45,000 |debts 2,000 18,000
Mrs. Aditya’s loan | g 000|Bills receivable 10,000
Sooraj’s Loan 10,000 |Cash in hand 5,000
Capital: Land and Building | 50,000
Aditya 20,000 Plant & Machinery 125,000
Sooraj 30,000 50,000 (Prakash’s capital 10,000
1,38,000 1,38,000

Firm was dissolved ‘on the above date. Aditya was
appointed as liquidator to realize assets and for
payment of liabilities. For this, Aditya was to receive
Rs. 2,000. ‘

Stock realized Rs. 18,000; all debtors were good; land
and building realized Rs. 60,000 out of which bank
loan was paid off along with interest of Rs. 5,000.
Plant of Rs. 10,000 was taken over by Mrs. Aditya and
remaining plant was taken over by Sooraj in full
consideration of their loans. Bills receivable of Rs.
4,000 were not recovered and proved bad.

One creditor, who was not recorded, of Rs. 4000,
claimed his due on the firm. On behalf of the firm this
creditor was paid by Aditya from his personal wealth.
Prakash became insolvent and nothing was recovered

aifasa o wufeat %o
AR 15,000 [T 20,000
|7 fam 10,000 37K 20,000
At 7 YaT W d9% dfery w0 & feg
ol 45,000|5E9F 2,000 18,000
siteelt anfee &1 %0 | 8,000 (5T e 10,000
O F R 10,000 |¢& AFs 5,000
qft: qff a4 wa= 50,000
sfess 20,000 o= q Ay 25,000
§& 30,000 50,000 [sreFrer =t gsft 10,000
1,38,000 1,38,000

o fafw @ o a1 faed @ AT SR @ g
) age ¥ fw aREHIE S T a3 e
mwﬁmmlw&maﬁm,omﬁoﬁﬁ
Eopll

wWis ¥ 18,000 Fo ﬁﬁ;uﬁmﬁﬂm.mw,
qfit @ wad ¥ 60,000 Fo fire fored & 9 %0, 5000
Fo s WIfed, T IaR fe@n maT| W wO & U
e ¥ 10,000 Fo w1 WA siwdt nfew A A fem

P ToEH
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auT AT AT G X & 4,000 Fo F A farc '
A 9 T T@ gt AR A I @ W

& R, o fad § T o, 39 4,000 To H A
s o ¥ T ) e # AR ¥ afed AR
Sffms fed ¥ 3W AR FOPEE R
sy fearfaan & ok sww Afwe gl |
O Q@ T & FH |

TR A W W fEw wTe S g S
Hfog | 20

8300




